'Hawa [[31%Y 100 GU

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall mounting.

Product highlights \/

M . L .
> Comfort Smooth, quiet sliding and gentle stopping of the 1§\
door with integrated soft and self closing system %r\:
M Productivity No glass processing thanks to clamping shoe
connection
Technical specifications )
[ Max. 100 kg (220 Ibs.)
w Max. 2700 mm (8'10 5/16")
&2 Max. 1600 mm (5'3") //\
[« 8-12.7 mm (5/16" to 1/2") |
Installation examples
45
13
3 ‘ﬁ *mit Montagedffnung
Sl 12 » 4 13 with assembly opening (66) 11
S %9, = Yriih avec ouverture de montage (@19 |
Wl —\ 1@ Ay 32 ||2 32/ |16
— [1r A\
St PN =
Sm“_wgf\,? : ‘D,‘f’v\_g I L3 ° OXf( ¢ I 83
8 © o ° o ST o~
== H
= (@) @ @) Q @) @ J
4 KB w0
-3 (55" 35"
717
% B WL 4|18 124 124 *(73 18]]l 2
- 32 " " ] u
@(8-127) K Erg)ps i 4 (2581 %
" 8
D% -3 ©) 4 TB- 8 4
15 (10 29 5 T8-S5 3
190 130 25
32 32 32 =
NS
T N
;E ==l
Il 11
el e ( ]
=
S 3
] e
o &
50
L
G| |B ~ |k ] S
~ cy-)% _
35 N\ 04
i

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 427



'Hawa [[Z31%) 100 GU

Set for ceiling mounting, Panels
for 1 glass door up to 100 kg (220 Ibs.)
mm
No. (inch) No.
. / Design-panel, 6,000 1 157 3070.600
o aluminum, anodized (19'8 7/32")
<
= No.
- cutto | 4573070.990
B Size
Set consisting of: o
2,500 " 457 3039.250
) ] (8'27/16")
Running gear, ba_II bearing, 5 | 057.3114.071 Clip-on panel, for 6.000
rollers plastic white clamping shoe, 19% e 057.3039.600
aluminum, anodized ( )
cut to
. : . 057.3039.990
Sto'pper, WIﬂ"I retention 1 | 057.3073.072 size
spring, plastic, gray
End cap set
Sto.pper, W|thout retention 1 | 057.3073.071 No.
spring, plastic, gray
End cap for panels 057.3061.071
Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104 =
steel, zinc-plated S
. g No.
S Hexagon locking nut, M8, > | 768.9005.101 ®
= steel, zinc-plated ' ’ B
Set consisting of: o
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075 End cap, left for panel,
(5/16"-1/2") plastique, anthracite 2 | 057.3059.001
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white End ioht |
H i t M6 p;;st?glﬁ)érgntth;::ﬁ:ne ’ 2 | 057.3059.002
S exagon jam nut, M6, )
@ steel, zinc-plated 2| 768.2001.101
A Bottom guide, playf &l
ottom guide, playfree | End cap holder, plastic,
s(? adjustable, chrome-plated, | 1 | 057.3030.071 anthracite 2 | 057.0141.001
& matt
Wall buffer, 19x10 mm End cap, left for desian-
" " 1 | 024.0002.046 P, g
(3/4"x13/32"), rubber, black @ panel, plastic, anthracite 1| 057.3071.001
Countersunk head screw,
‘i&%@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120 End cap, right for track, 1 | 057.3071.002
steel, zinc-plated plastic, anthracite : )
Running tracks ) )
% Clip to panel, plastic, gray 4 | 057.3060.001
mm
(inch) No. <
P“o& Plate, steel, zinc-plated 2 | 057.3077.101
1,700 1 957.3048.170 \e‘y
(5'615/16")
2,000 | 5523048200 Head cap screw, M5x18 mm
(6'63/4") %@ﬂ% (3/16"x23/32"), 8 | 600.0000.661
steel, zinc-plated
) ) (3225722) 057.3048.250
Clom.b' running Lra.llcl;ké Head cap screw,
aluminum, pre-driied | 3,500 | 1523048 350 &%@Kg@ M5x20 mm (3/16"x25/32"), | 8 | 763.0508.120
(115 25/32") steel, zinc-plated
(13’:7?32”) 057.3048.600 Thread rolling rounded
%’E head screw, M5x16 mm 2 | 600.0000.168
QA " " . .
cutto | o57.3048.990 (3/16™5/8"),
size steel, zinc-plated

428

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Soft close

For soft closing in opening and closing direction

order 2 sets.

No.

Soft close Hawa Porta 100, Divido 100,
61-100 kg (133-220 Ibs.), 1 piece

042.3102.071

Soft close Hawa Porta 60/100, Divido 100,
10-60 kg (22-132 Ibs.), 1 piece

042.3102.072

Accessories

'Hawa [[Z31%Y 100 GU

No.

Bottom door stopper,
with centering,
chrome-plated, matt

20773

Routing jig for
assembly opening

042.3118.071

Groove cutter to routing jig,
@= 10 mm (13/32"), hard metal

600.0000.309

Track cleaner, plastic, blue

057.3099.071

— | AN
N~ |~
o | o
INEEN
= =] No.
AR
§ g
Set consisting of: o|o
Soft close, top running,
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic
Trigger for soft close
in buildings, 1|1 | 042.3105.001
zinc die casting
%E Screw set soft close 1|1 |600.0000.566
&
Soft close, top running,
10-60 kg (22 to 132 Ibs.), 1 | 042.3106.072
plastic
Cover for assembly opening
No.
Cover cap to assembly opening, 1-piece set 042.3114.071
~
o
§ No.
(3p)
g
Set consisting of: o
)
Cover cap assembly
\/ opening, plastic, gray 1| 042.0172.001
%E Screw set soft close 1 | 600.0000.566
BN
Bottom guide
Adjustable without play for wall mounting
No.
Bottom guide wall mounting, 057.3015.175

adjustable free from play

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

429




'Hawa [[Z312Y 100 GU

Bottom door stopper

Wall mounting bottom guide

Einbauvariante 25 M5
Mounting version 04x20 3l 150
. 32 8
Variante de montage @ @
&y .
<[ Sien
eJiaN)
N ? i
04,5x20 © .
20 [(20-34 5 81.5
" " " 3u 7 0
® (% - 1% ) 16 33
Soft close
» Z= Z=2480
P o) O) 1 2 Z==1-68
* 0 1 2 0 1 2
E * Montagedffnung
Hawa Porta 60/100 HHC g | 1o |1 11d | 274 | 265 2193 Z= assembly opening
= ouverture de montage
Hawa Porta 60/100 HWHVMD/HMT | 1'623" [ 1 ok | 1111 | 214 262 | 208 | | B =—== K 1 2 ¢
62
Hawa Porta 100 G/GU/GM 18 e |1 | 20ad |26 |20 * B o | 1]z
Hawa Porta 60/100 H/HC 480 | 535 | 590
Hawa Porta 100 GW/GWF red (1ol |1 | 26" |26 | 2' 72" | [Hawa Porta 60/100 HWHMD/HNT | 480 | 535 | 590
Hawa Porta 100 GMD 17 [ 1red | 1 td | 2 sk | 27k | 2173 | | Hawa Porta 100 G/GU/GM 480 | 535 | 590
Hawa Porta 100 GW/GWF 512 | 542 | 590
Hawa Divido 100 HHWGR 16 1ol |11k | 243|262 | 29 | [HavaPorta 006D 488 | 539 | 590
- 50 |11 4n1dn | 10 Aln o 254 |0 1011 | |_Hawa Divido 100 H/HM/GR 480 | 535 | 590
Hawa Divido 100 GRM 185" 1105 | 110§ | 26" | 285" |2 108" | awq Divido 100 GRM =12 Teer 022
: e
2570
' Zn
>1'-1075
i 2=2730
Z=>2-43"
Accessories Planning/execution

Further information about the product can be found
on www.hawa.com.

— Lock solutions from page 479
— General accessories from page 487
— Glass recommendations from page 504

430

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



